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QUESTION 1

You are monitoring a WebLogic JDBC data source and have decided to drop some connections because an earlier
peak usage condition has now ended. In addition, this data source has not been enabled for automatic shrinking. 

What will occur once you execute the shrink() method on that JDBCDataSourceRuntimeMBean? 

A. The number of connections in the pool will be reduced to the greater of either the current number of connections in
use or to the minCapacity property setting. 

B. The number of connections in the pool will be reduced to the current number of connections in use regardless of the
minCapacity property setting. 

C. The number of connections in the pool will be reduced to the minCapacity property setting regardless of the current
number of connections in use. 

D. The number of unused connections in the pool will be reduced by half. 

Correct Answer: A 

When you shrink a data source, WebLogic Server reduces the number of connections in the pool to the greater of either
the initial capacity or the number of connections currently in use. 

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs92/jdbc_admin/manage.html#wp1048129 

 

QUESTION 2

The administration server is a major component of a WebLogic domain. I need to make available a standby
administration server in case the main administration server in the domain crashes. 

Which utility will help me in doing this? (Choose the best answer.) 

A. Configuration Wizard 

B. Domain Template Builder 

C. pack/unpack 

D. Enterprise Manager 

Correct Answer: D 

Reference: http://docs.oracle.com/cd/E24628_01/install.121/e24089/ appdx_standby_oms.htm#EMADV13364 

 

QUESTION 3

I am sending a set of ten JMS messages. I want all of these messages to be sent successfully or none at all. 

Which JMS Session feature is most suitable for implementing such a scenario? (Choose the best answer.) 

A. Transacted Session 
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B. Unit of Order 

C. Store and Forward 

D. Persistent Session 

E. Server affinity 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs103/jms/fund.html 

 

QUESTION 4

We find the JMSRedelivered header set for a particular message on the receiver. 

In which two scenarios is this expected to happen? (Choose two.) 

A. The application has already received the message, but did not acknowledge it. 

B. The session\\'s recover() method was called to restart the session beginning after the last acknowledged message. 

C. The sender calls the redeliver() method for the message. 

D. The sending application crashes after sending the message. 

Correct Answer: AB 

A: The JMSRedelivered property specifies a flag set when a message is redelivered because no 

acknowledge was received. This flag is of interest to a receiving application. 

If set, the flag indicates that JMS may have delivered the message previously because one of the following 

is true: 

* 

The application has already received the message, but did not acknowledge it. 

* 

The session\\'s recover() method was called to restart the session beginning after the last acknowledged 

message. 

Reference: http://docs.oracle.com/cd/E12840_01/wls/docs103/jms/fund.html 

 

QUESTION 5

You are tasked with configuring a proxy tier for a WebLogic Server domain that has managed Coherence servers
configured. 
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What must the Coherence cache configuration file include as part of this task? (Choose the best answer.) 

A. connection properties to enable push replication between two Coherence clusters connected over a WAN 

B. connection properties to enable Coherence*Extend clients to connect to the cluster via TCP/IP 

C. HTTP proxy server settings to enable Coherence caching on the web server tier 

D. network connection settings to enable Coherence caching on the client\\'s web browser 

Correct Answer: B 

Reference: https://docs.oracle.com/en/middleware/fusion-middleware/coherence/12.2.1.4/administer/ deploying-
coherence-applications.html#GUID-69C5C7E2-1F70-47FD-A127-73679DE3ADC0 
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